o~
ﬁ N Negativa exponenter pa 10

famn. Datum: Poing:
107 = 5% 10° =
1072 = 1003 =
9x 1077 = 3% 100 =
1072 = 293,7 x 1009 =
222 x 1002 = 8 x 102 =
1072 = 382,7+ 1009 =
1079 = 265,9+ 103 =
718,4+ 107 = 220,6+ 10> =
1072 = 100D =
372,4+ 107 = 1003 =
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MBS

Negativa exponenter pa 10

namn:

107 = 0.0001

1072 = 0.01

9 x 107 = 0.009

1072 = 0.01

222 x 1002 =222

107% = 0.01

107 = 0.001

718,4 + 107 = 7184000
1072 = 0.01

372, 4+ 107 = 3724000

Datum:
5x10°=5
1072 = 0.001

3% 107 = -0.003
293,7 x 107 = 0.2937
8 x 10% = 800

382, 7+ 107 = 382700
265,9 + 107 = 265900
220,6+ 10* = 2.206
1077 =0.1

1072 = 0.001

www.snowmath.com

Poéng:



https://www.snowmath.com

